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TP delay [ns]

TVC(cbch) (0, 14 10

1000

0

1 naz 119e+04 / 25
[=, po 4230+ 0.0
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-36.1+ 0.0
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TVC(cbch) (1,5,3)

po

p1

A~ 1 nuiz 1uze+ud | 25
4208+ 0.0
-35.01+ 0.00

TP delay [ns]

TVC(c,b ch) (1 57

= 1 nuiLSule+ud / 25
e po 4242+ 0.0
p1 -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1,51

X~ g,

- po

/yze+u4 125
4280+ 0.0
-36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

[P,

- i 533e+ud [ 25
pO 4255+ 0.0
p1 -35.54 + 0.00

TP delay [ns]
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1000

0

4000

3000

2000

1000

TVC(cbch) (1,6,0

AT 1nuiLasie+ud /25
. po 4191+ 0.0
pl -37.04 + 0.00

TP delay [ns]

TVC(cbch) (1,64

-1 398e+u4 / 25
", PO 4218+ 0.0
pl -36.69 + 0.00

- C -1
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (1 6,8

T zzoe+04 | 25
PD 4220+ 0.0
pl -34.77 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,6, 12

A1,

po
p1

rove+u4 /25
4230+ 0.0
-37.23+ 0.00

TP delay [ns]
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1000

TVC(cbch) (1,6,1

AT 1 nuiLsu/e+u4 /25
., po 4196+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nui 3bze+u4 [ 25
pO 4216+ 0.0
pL -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

[P,

T nuw, 745e+04 / 25
po 4239+ 0.0
pl -35.18 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,6,13

~ 1 nuiLouve+ud / 25
4227+ 0.0
-36.37+ 0.00

TP delay [ns]
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1000

0

4000
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2000

1000

TVC(cbch) (1,6,2)

K™ 1 nuiog0e+04 /25
[ ™ po 4203+ 0.0
L pl -37.4+ 0.0

3000

- C = 26.74 [pslc .

1
50 100

TP delay [ns]

TVC(cbch) (16,6

1000

-1 389e+04 / 25
4219+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (1, 6 10

©1nuz3u4e+04 / 25
= po 4255+ 0.0
- pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (1,614

pD
pl

T gr4e+04 /25
4220+ 0.0
-36+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3

AT 1L soze+ud [ 25
o, po 4211+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,7

-1 nui Z3be+u4 / 25
[ pO 4218+ 0.0
pL -35.05+ 0.00

TP delay [ns]

TVC(eh.eh)=(1,6, 11
[os po

-1 nuig v4ae+04 / 25
4244+ 0.0
p1 -34.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,6,15

T inuin41e+u4 /25
4212+ 0.0
-36.11 + 0.00

TP delay

[ns]
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1000

TVC(c,b,ch)=(1,7,0)

T AT Y308/ 25
- po 4184+ 0.0
pl -35.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (17,4

- 1 4a8e+04 25
- pO 4195+ 0.0
p1 -36.73+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(1,7,8

T rnuiLys1e+u4 / 25
- po 4217+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T rnaiLzure+u4 /25
- po 4226+ 0.0
pl -35.39+ 0.00
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TVC(cbch) (1,7,1)

AT 1L sbse+ud [ 25
[ po 4201+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

-1 nui 493e+04 / 25
4194+ 0.0
-36.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 7

T a5 /e+u4 /25
- po 4219+ 0.0
pl -35.69 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,7,13

Tinai1z/e+ud [ 25
4228+ 0.0
-36.31+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,7,2)

A~ 1nuizroe+V4 /25
[ po 4194+ 0.0
[ p1 -35.49 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (17,6

- i roze+04 [ 25
[= pO 4238+ 0.0
[ pl -36.94 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

1 nuiLyupe+u4 / 25
[=, po 4227+ 0.0
L pl -35.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T 134e+04 / 25
[=. pD 4222+ 0.0
[ p1 -35.37+ 0.00

3000
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TP delay [ns]
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TVC(cbch) (1,7,3)

AT 1 nuiL4zge+ud [ 25
e po 4211+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

= 1 nui Sge+ud | 25
- po 4220+ 0.0
pl -37.21+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 7

1)
T nuiL4/oe+u4 /25
. po 4238+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

Tonuiigie+ud /25
pO 4230+ 0.0
p1 -35.57 + 0.00

TP delay [ns]
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1000

0
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3000

2000

1000

TVC(cbch) (1,8,0)

X~ 1w 5ase+U4 [ 25

[ ™ po 4173+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (1,84

T lr3e+u4 / 25

[T, po 4212+ 0.0
pl -37.76 + 0.00

TP delay [ns]

TVC(cbch) (1 8,8

1 nuiLpale+ud | 25

[ pD 4203+ 0.0
pl -36.49+ 0.00

TP delay [ns]

TVC(cbch) (1,812

1 nuiL4r9e+u4 [ 25

[ po 4238+ 0.0
pl -36.43+ 0.00

TP delay [ns]
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TVC(cbch) (1,8,1)

AT 1L bsoe+ud [ 25
- po 4200+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

= rnuiL 3 3e+ud [ 25
- po 4204+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

-1 nub.guse+ud / 25
- po 4230+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(cbch) (1,813

Tinuialse+ud [ 25
4220+ 0.0
-35.21+ 0.00
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TP delay [ns]
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TVC(cbch) (1,8,2)

A7 1 nun s4ze+04 /25

=, po 4203 0.0
L pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (1,86

11, 339e+04 [ 25

[=, po 4207+ 0.0
F pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1, 8 10

1 nuiz 159e+04 / 25

[, pO 4241+ 0.0
o pl -36.02 + 0.00

0

TP delay [ns]

TVC(cbch) (1,8 14

1 nui 458e+U4 / 25

[=. pD 4236+ 0.0
[ PL_ -36.96% 0.00
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TP delay [ns]
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TVC(cbch) (1,8,3)

AT 1L bzse+ud [ 25
- po 4207+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

=1 nuiLazze+ud | 25
- po 4208+ 0.0
pl -37.08 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T, /bée+U4/25
4235+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,815

-1 nuiLsu0e+u4 / 25
- pO 4237+ 0.0
p1 -35.76 + 0.00

TP delay [ns]



TVC(cbch) (1,9,0
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AT inuiLorse+ud /25
[ po 4194+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (1,94
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- rnuiLz1ve+ud / 25
e, PO 4209+ 0.0
pl -36.21+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8
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0

T 1 goe+u4 /25
- po 4180+ 0.0
pl -33.88+ 0.00

0

TP delay [ns]

TVC(cbch) (1,9,12

4000
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1000

T szse+u4 [ 25
- po 4206+ 0.0
pl -34.69 + 0.00
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TP delay [ns]
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TVC(cbch) (1,91

A1 L 0ase+U4 | 25
™ po 4205+ 0.0
pL -35.78+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

- nun 318e+u4 / 25
e, pO 4222+ 0.0
pL -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

T nu.B41e+U4 / 25
4212+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (1,9,13

T nuiL suse+ud / 25
4194+ 0.0
-34.1+ 0.0

il
100

TP delay [ns]
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1000

TVC(cbch) (1,9,2)

TP delay [ns]

TVC(cbch) (19,6

1000

K™ 1 nuioyye+ud / 25
[, po 4200+ 0.0
L pl -36.17 + 0.00

3000

©rnuiL3b1e+04 / 25
- pO 4229+ 0.0
[ pl -36.89+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 9 10

1000

0

1 nuiz.494e+04 | 25
[=, po 4229+ 0.0
L pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (1,914

T goe+u4 [ 25
pD 4200+ 0.0
pl -35.25+ 0.00
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TP delay [ns]
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TVC(cbch) (1,9, 3)

AT 1 nuiLo4/e+U4 [ 25
po 4234+ 0.0
pl -38.02+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

- nuiZ/ye+u4 / 25
e, pO 4233+ 0.0
pL -35.98+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 9

SRR bUBe+U4/25
. po 4222+ 0.0
p1 -34.07 + 0.00

TP delay [ns]

TVC(C, bch) (1,9,15

T nui 1sye+ud [ 25
. pO 4209+ 0.0
p1 -34.22 + 0.00

PR
100

TP delay [ns]
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1000

TVC(CbCh) (1, 10 0)

- pO

1nun g 1oe+ud [ 25

pl -35.81+ 0.00

4197+ 0.0

TP delay [ns]

TVC(cbch) (1,104

- i 319e+u4 / 25

[ pO 4185+ 0.0
Pl -34.39: 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

T z09e+u4 /25
- po 4229+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

T i syse+u4 / 25
[ po 4223+ 0.0
pl -33.85+ 0.00

TP delay [ns]
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TVC(chh) (1,10,1)
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AT rnuiLiyie+ud /25

pl -35.79+ 0.00

4213+ 0.0

TP delay [ns]

TVC(c, bch) (1,10,5

-1 nui 393e+u4 / 25
[ pO 4186+ 0.0
pL -35.06+ 0.00

50 1(;0
TP delay [ns]

TVCEebeh)=( 1, 10,9

~ 1 nuig 155e+u4 / 25
- po 4235+ 0.0
pl -35.93 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (110,13

~inuiLa10e+ud /25
™ pO 4228+ 0.0
pl -32.91+ 0.00

[ C =30.39 [ps/ch] ™ 1
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TVC(CbCh) (1,10,2)

1
50 100

TP delay [ns]

TVC(cbch) (1,10,6

1000

A7 1 nuiLusoe+ud / 25
= po 4200+ 0.0
L pl -34.87 + 0.00

3000

T il 7Z8e+u4 [ 25
™= po 4204+ 0.0
[ pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

T il 4pe+u4 | 25
[= DO 4252+ 0.0
- pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (110,14

~ i ba5e+04 / 25
__- pD 4228+ 0.0
L pl -34.86 + 0.00
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TVC(Cbch) (1,10,3)

AT rnuiLurse+u4 [ 25
4198+ 0.0
p1 -34.56 + 0.00

po

TP delay

TVC(c, bch) (1,10,7

- pO

[ns]

- 11U 466e+U4 / 25
4217+ 0.0
pl -35.66 + 0.00

50 1(;0
TP delay

TVC(ebeh)=(1, 10, 11

[ns]

T nai/14e+04 /25
4277+ 0.0
pl -38.23+ 0.00

TP delay

TVC(cbch) (1,10,15

[ns]

T nun ssse+ud [ 25
4212+ 0.0
p1 -33.62+ 0.00

TP delay

[ns]
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1000

TVC(CbCh) (1,11,0)

K™ nuiaoze+04 /25
™ po 4200+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (1,114

= 1L ggbe+u4 / 25
[ po 4205+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(ebeh=(L, 11,8

T nuig.483e+04 / 25
= pO 4227+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (111,12

T4 e+u4 /25
™ pO 4240+ 0.0
pl -35.99+ 0.00

TP delay [ns]
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TVC(Cbch) (1, 11 1)

Tonun 1be+u4 /25
[ pO 4210+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

= nuiL313e+04d / 25
[T po 4201+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

<1 nuw gyoe+u4 | 25
- po 4253+ 0.0
p1 -37.54.+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T 1 nui oyve+ud / 25
pO 4238+ 0.0
pl -36.51+ 0.00

TP delay [ns]
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1000

TVC(CbCh) (1,11, 2)

A7 1 nui qose+04 / 25
™ po 4225+ 0.0
- pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (1,116

T zs/e+u4 [ 25
™= pD 4220+ 0.0
- pl -36.06 + 0.00

TP delay [ns]

TVC(e.b,ch)=(1, 11, 10

X~ 1wz 3zbe+04 [ 25
- po 4271+ 0.0
F pl -36.84 + 0.00

0

TP delay [ns]

TVC(cbch) (1,11, 14

X~ 1L bure+ud [ 25
[=. po 4234+ 0.0
- pl -37.25+ 0.00

TP delay [ns]
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TVC(cbch) (1,11,3)

AT rnuiLzyse+ud [ 25
™=, po 4227+ 0.0
pl -36.29+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

= nuiL 2z 3e+ud | 25
[ po 4230+ 0.0
pl -35.93+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

-1 nuiLy1Ye+ud / 25
e pO 4275+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (111,15

T nuia49e+u4 / 25
e pO 4244+ 0.0
pl -37.44+ 0.00

TP delay [ns]
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1000

TVC(CbCh) (1, 12 0)

T szoe+u4 [ 25
- pO 4154+ 0.0
p1 -34.68 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,124

- /i 363e+04 / 25
- pO 4171+ 0.0
p1 -35.14 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

T w1 pse+ud /25
- po 4197+ 0.0
pl -35.54 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,12,12

— T 143e+04 /25
pO 4193+ 0.0
pl -34.87 + 0.00
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TP delay [ns]
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TVC(chh) (1,12,1)

- PO

AT 1 nuiLs3oe+ud [ 25
4163+ 0.0
-35.12+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,125

- nui 313e+04 / 25
4184+ 0.0
-35.45+ 0.00

1
50 100

TP delay [ns]

TVCEbeh)=( 1, 12,9

- po
pl

T nugbyle+ud / 25
4201+ 0.0
-34.22+ 0.00

TP delay [ns]

TVC(cbch) (112,13

-1 naiquze+ud | 25
4191+ 0.0
-35.79+ 0.00

TP delay [ns]
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1000

TVC(CbCh) (1,12,2)

X~ 1w saze+04 [ 25
L= po 4173+ 0.0
L pl -34.84+ 0.00
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1
50 100

TP delay [ns]

TVC(cbch) (1126

=1 nunL309e+04 / 25
[=. po 4183+ 0.0
3 pl -35.27 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

Tz zs4e+04 [ 25
[ po 4223+ 0.0
[ p1 -35.47 + 0,00

TP delay [ns]

TVC(cbch) (112,14

TrnuiLgsre+ud [ 25
N pD 4208+ 0.0
L p1 -36.11+ 0.00

TP delay [ns]
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TVC(Cbch) (1,12,3)

-, po

AT rnuiLzyre+ud [ 25
4179+ 0.0
p1 -34.36 + 0.00

TP delay

TVC(c, bch) (1,127

-, pO

[ns]

-1 nui 49ze+04 [ 25
4197+ 0.0
pl -35.47 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (1, 12 11

-, pO

[ns]

<1 nuiL vbbe+ud / 25
4215+ 0.0
p1 -34.62 + 0.00

TP delay

TVC(cbch) (1,12,15

[ns]

-1 nuiLquoe+ud / 25
4195+ 0.0
p1 -35.15+ 0.00

TP delay

[ns]



TVC(cbch) (1,13,0) TVC(cbch) (1,13,1) TVC(cbch) (1,13,2) TVC(cbch) (1,13,3)

Srnan g rse+ud [ 25 A1 saze+ud | 25 A1, rzoe+04 [ 25 A1 .4o2e+U4 [ 25
4000 [ PO 4204+ 0.0 4000 [ po 4204+ 0.0 4000 __— po 4204+ 0.0 4000, po 4227+ 0.0
pl -37.45+ 0.00 pl -36.87+ 0.00 r pl -36.75+ 0.00 pl -36.24+ 0.00
3000 -1 3000 - 3000 =1 3000 =1
L]
2000 1 2000 -1 2000 -1 2000 1
1000 - 1000 =1 1000 =1 1000 [~ -
-
-
-
0, 0, 1 0, 1 1 0, 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,134 TVC(c, bch) (1,135 TVC(cbch) (1,136 TVC(c, bch) (1,137

“ g :;t?tseﬂ)d 125 Tnur bl)/e+04/25 Trnun g b)be+U4 125 T bz)ze+04/25
40001 pO 4211% 0.0 40001 pO 4224+ 0.0 4000 [, pO 4233+ 0.0 4000 e, pO 4239+ 0.0
pl 3518+ 000 Pl -3555: 000 [ PL_ -36.17% 0.00 Pl -36.330.00
3000 E 3000 B 3000 E 3000 [ B
2000 g 2000 E 2000 E 2000 [ B
1000 ] 1000 7 wool- C = 27.65 [ps/ch 7 wool- C = 27.53 [ps/ch ]
- L - -
- [ - -
1 1 1 1 [ 1 1 - 1 1 -
0 50 00 0 50 100 0 50 T00 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(1, 13,8 TVCEbeh)=( 1, 13,9 TVC(Ee b eh)=( 1, 13, 10 TVC(eheh)=(1, 13, 11

1 nuiLbage+u4 | 25 ~ i nuig.zo1e+u4 / 25 ©1nuz 3obe+ud | 25 T nui g4ze+04 [ 25
4000, PO 4194+ 0.0 4000 4252+ 0.0 4000 [ DO 4264+ 0.0 4000, pO 4258+ 0.0
pl -34.2+ 0.0 -34.7£ 0.0 F pl -36.32+ 0.00 pl -35.87 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 -1 2000

1000 -1 1000

-1 1000 -1 1000

1 1 1 1
% 50 00 0 50 100 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (1,13,12) TVC(c,b ch) (1.13,13) TVC(c,b ch) (1,13,14) TVC(c,b ch) (1,13,15)
1L pyse+u4 / 25 Tonan g oze+ud [ 25 T rnuiLpr3e+ud [ 25 -1 nuibuye+ud / 25
4000 ["em, pO 4252+ 0.0 4000 [, pO 4254+ 0.0 4000 [, PD 4237+ 0.0 4000 [, pO 4256+ 0.0
pl -36.51+ 0.00 pl -36.86 + 0.00 F pl -36.1+ 0.0 pl -37.03+ 0.00

3000

-1 3000 -1 3000 - 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

' pO

1 nuiL40/e+U4 / 25

pl -36.73+ 0.00

4200+ 0.0

TP delay [ns]

TVC(cbch) (1,144

=1 zgve+u4 / 25

- pO 4177+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

1 nuizysse+ud | 25

po 4172 0.0
pl -33.16+ 0.00

TP delay [ns]

TVC(cbch) (1,14,12

1 nuiL pbze+ud | 25

e, po 4260+ 0.0
pl -36.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1 nuiLob/e+u4 [ 25
™ po 4194+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c, bch) (1,14,5

- UL s23e+U4 [ 25
" DU 4190+ 0.0
p1 -37.1+ 0.0

[ C=26.95[ps/c 7]

50 100
TP delay [ns]

TVC(c, bch) (1,14,9

~ 1 nun.140e+04 / 25
- po 4198+ 0.0
pl -35.02 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (114,13

-1 nuiLbube+ud / 25
= pO 4253+ 0.0
pl -37.36 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (1, 14 2)

1w zr4e+04 [ 25

TP delay [ns]

TVC(cbch) (1,146

[ ™ pO 4212+ 0.0
L pl -36.65+ 0.00

3000

1Lz /1e+04 [ 25

[ =, pO 4174+ 0.0
F pl -36.48 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 14,10

1000

0

1 nuizyrye+ud | 25

[ DO 4223+ 0.0
[ p1 -34.79.+ 0.00

TP delay [ns]

TVC(cbch) (114,14

1000

1 nui busbe+u4 / 25

__- pD 4261+ 0.0
L pl -36.97 + 0.00

TP delay [ns]

TVC(Cbch) (1,14,3)

4000 [~u

3000

2000

1000

AT rnuiLzyse+ud [ 25
po 4229+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

4000 [,

3000

2000 -

1000 [~

-1 nui 43ze+04 / 25
-, pO 4198+ 0.0
pL -36.16+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

4000 [,

3000

2000

1000

T nui bz3e+u4 [ 25
pO 4213+ 0.0
p1 -34.24.+ 0.00

TP delay [ns]

TVC(cbch) (1,14,15

3000

2000

1000

T inan 1 a0e+ud [ 25
4000 [Fm, pO 4255+ 0.0
p1 -36.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,15,0)

“onun g 44e+u4 / 25
PO 4205 0.0
pl -37.93+ 0.00

L=
100

TP delay [ns]

TVC(cbch) (1,154

- i blbe+ud / 25
pO 4225+ 0.0
pl -36.44  0.00

- C -
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (1, 15 8

1 nuiLga4e+04 / 25
PD 4226+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,15,12

TnuiL, r53e+u4 / 25
PO 4233+ 0.0
pl -35.36 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,15,1)

AT 1L, roze+u4 [ 25
PO 4208+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (1,155

[P

“nun 1be+04 /25
DU 4228+ 0.0
pL -36.17 + 0.00

TP delay [ns]

TVC(c, bch) (1, 15 9

[P,

~ 1 nug s80e+u4 / 25
DO 4258+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (115,13

T o/ge+u4 [ 25
PO 4229+ 0.0
pl -35.39 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000

2000

1000

0

TVC(cbch) (1,15,2)

X~ 1w L ose+ud [ 25
po 4228+ 0.0
pl -38.15+ 0.00

L=
100

TP delay [ns]

TVC(cbch) (1,156

[,

-1 1uiL.448e+04 | 25
pO 4230+ 0.0
pl -35.27:+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (1, 15 10

[

a2 5ube+u4 / 25
DO 4272+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (115,14

1000

~ i, gyse+ud [ 25
PD 4237+ 0.0
pl -34.73+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,15,3)

“rmur doerud ] 25
[= PO 4217 0.0
Pl -36.78+ 0.00

TP delay [ns]

TVC(c, bch) (1,157

-1 nui blze+ud / 25
[ PO 4231+ 0.0
Pl -35.2510.00

TP delay [ns]

TVC(eheh)=(1, 15, 11

T inuiLyrae+u4 [ 25
pO 4290+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (1,15,15

T b34e+u4 [ 25
[ pO 4235+ 00
pl -35.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,0,0

A7 1 nun asae+04 /25
p— po 4206+ 0.0
pl -37.53+ 0.00

TP delay [ns]

TVC(cbch) (2,0,4

= 1 i 39p0e+U5 / 25
— pO 4192 0.0
p1 -34.67+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

T rnuiLgrze+04 [ 25
- po 4188+ 0.0
p1 -34.94 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,0,12

T L, r4pe+04 / 25
- po 4206+ 0.0
pl -34.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,1)

- i soae+ud [ 25
- pO 4220+ 0.0
pL -37.37+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

=1 nui 3v8e+u5 / 25
T pO 4194+ 0.0
pL -34.37+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,9

S 4.0e+Ud /25
- pO 4200+ 0.0
pL -35.75+ 0.00

TP delay [ns]

TVC(cbch) (2,0,13

Tinaizie+ud /25
pO 4222+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

AT 1nunLs/e+04 /25

TP delay [ns]

TVC(cbch) (2,0,6

__ po 4214+ 0.0
[ p1 -36.44 + 0.00

=1 i 2oge+U5 / 25
- pO 4213+ 0.0
[ 353+ 0.0

TP delay [ns]

TVC(cbch) (2, 0 10

1000

0

Tz, z(e+u4 | 25
[=, po 4226+ 0.0
L pl -36.28+ 0.00

TP delay [ns]

TVC(cbch) (2,0,14

© L gzye+U4 [ 25
__- pD 4218+ 0.0
[ p1 -35.02+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

AT 1L r1oe+u4 [ 25
[ =, po 4207+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

- nui 374e+05 / 25
Fu, pO 4212+ 0.0
p1 -34.56+ 0.00

TP delay [ns]

TVC(c,b ch) (2, O

T yu4e+u4/25
. po 4235+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

T nai rsye+ud [ 25
. pO 4205+ 0.0
p1 -34.49 + 0.00

TP delay [ns]



4000

3000

2000

TVC(cbch) (2,1,0)

— po
pl

A7 nuis 1uze+u4 / 25
4220+ 0.0
-40.2+ 0.0

wool- C = 24.87 [ps/

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

()
100

TP delay [ns]

TVC(cbch) (21,4

- 143e+04 [ 25
e pO 4178+ 0.0
pl -35.24 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 1,8

1 nuz5uve+04 / 25
po 4217+ 0.0
pl -36.75+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (21,12

T rnuiLgize+u4 /25
- po 4206+ 0.0
pl -34.89+ 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

- PO

pl

A1 nug.438e+U4 [ 25
4215+ 0.0
-38.99 + 0.00

TVC(cbch) (2,1,2)

4000 _— po

A7 1nuig szae+04 /25
4220+ 0.0
pl -37.78+ 0.00

3000

2000

TP delay [ns]

TVC(c,b ch) (2 1,5

=1 nui 48be+04 [ 25
[, pO 4193+ 0.0
pL -35.59 & 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 1

~ 1 nuis 7ube+ud / 25
e, pO 4243+ 0.0
pl -37.03 + 0.00

TP delay [ns]

TVC(cbch) (21,13

T inuiplse+ud / 25
4227+ 0.0
-36.41+ 0.00

TP delay [ns]

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TP delay [ns]

TVC(cbch) (2,1,6

TVC(cbch) (2,1,3)

3.1e+04 /25
4228+ 0.0
-37.81+ 0.00

A

4000 [ po

p1

3000

2000

1000

-1 nur boye+u4 [ 25
[, pO 4198+ 0.0
[ pl -35.72+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

T i 344e+04 / 25
- po 4243+ 0.0
- pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (21,14

T plie+ud / 25
L pD 4222+ 0.0
[ p1 -36.17 + 0.00

TP delay [ns]

TP delay [ns]

TVC(c,b ch) (2 1,7

- i S r5e+ud [ 25
4000 [~ po 4198 £ 0.0
p1 -35.64 + 0.00
3000 7
2000 7
1000 C 7]
-
-
-
1 1
0 50 100

TP delay [ns]

TVC(c,b ch) (2, 1

3000

2000

1000

SRR m/e+u4/25
4000 [Fm pO 4247+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(cbch) (21,15

4000 [Fu.

3000

2000

1000

Tonan L 3e+ud [ 25
po 4204+ 0.0
p1 -35.82+ 0.00

TP delay [ns]



TVC(cbch)(220) TVC(cbch)(221) TVC(cbch)(222) TVC(cbch)(223)
A” 1L 419e+04 / 25 A~ 1w bpse+ud / 25 A™ 1L 488e+04 [ 25 A~ agre+ud | 25
4000, PO 4175+ 0.0 4000 [, po 4188+ 0.0 4000 -, PO 4193+ 0.0 4000w, PO 4205+ 0.0
pl -34.97 + 0.00 pl -36.15+ 0.00 r pl -36.63+ 0.00 pl -37.51+ 0.00

3000

1 3000 -1 3000

-1 3000

2000 -1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 -1 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (2,24 TVC(cbch) (22, TVC(cbch) (2,2,6 TVC(c, bch) (22,

“ g A)U(eﬂJA 125 Sornar i)zye+04/25 S 1)41e+U4 125 T nar )lle+04/25
4000 |-, 4000 |, 4000 [, 4000 [,
", pO 4197+ 0.0 ", pO 4182+ 0.0 L= pO 4197+ 0.0 " pO 4201+ 0.0
pl -37.2+ 0.0 pL -36.11+ 0.00 r pl -36.97 £ 0.00 pL -36.86 + 0.00
3000 1 3000 - -1 3000 -— —- 3000 1
2000 E 2000 |- - 2000 ] 2000 - E
woo- C = 26.88 [ps/c ] w00 C = 27.69 [ps/ch ] woor- C = 27.05 [ps/c 7] 1000 C ]
0 EY 0o 0 5 T 0 EY oo 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebch)=(2,2,8 TVCebeh)=(2,2,9 TVC(ebeh)=(2,2, 10 TVC(eb.eh=(2,2,

4000 1 nuiLyuve+u4 / 25 T nugp1be+ud / 25 4000 Tz 148e+04 / 25 4000 T nung bu9e+u4/25
- PD 4191+ 0.0 4000 DO 4234+ 0.0 L= DO 4227+ 0.0 - pO 4219+ 0.0
pl -35.17 + 0.00 pl -35.44 + 0.00 r pl -35.96 + 0.00 pl -35.31+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

I I I I [
% 50 00 0 50 100 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,212 TVC(cbch) (2,213 TVC(cbch) (2,214 TVC(C, bch) (2,215

T L pole+ud / 25 1 nuiL oZoe+ud / 25 ~1nuiLgyse+u4 / 25 T nui ose+ud [ 25
4000, PO 4236+ 0.0 4000, PO 4222+ 0.0 4000 L= PD 4228+ 0.0 4000, PO 4222+ 0.0
pl -37+ 0.0 pl -36.15+ 0.00 r pl -36.86 + 0.00 pl -35.62+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 -1 2000 - 2000 N 2000

1000 -1 1000 -1 1000 -1 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

- po

pl

A7 1 nui ooye+ud / 25
4206+ 0.0
-36.6+ 0.0

1
50 100

TP delay [ns]
TVC(cbch) (2,3,4)
- iU 4y e+u4 [ 25
[, po 4208+ 0.0
p1 -36.49 + 0.00
FC -
I 1 -'
50 100
TP delay [ns]
TVC(cbch) (2,3,8)
T nug.43/e+04 / 25
[ pD 4227+ 0.0
pl -36.91 0.00

TP delay

TVC(cbch) (2,312

[ns]

T i, roze+u4 / 25
4228+ 0.0
pl -34.75+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

[, po

A 1L azoe+ud [ 25
4214+ 0.0
-36.4 £ 0.0

pl

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nu 3yze+u4 [ 25
4197+ 0.0
-35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

- pO
pl

T a0/ /e+u4 [ 25
4258+ 0.0
-37.47+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 3 13

T 1 nui pzae+ud [ 25
4227+ 0.0
-34.72+ 0.00

PR
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

- po

A7 1nuizzoe+04 /25
4209+ 0.0
pl -36.11 + 0.00

TP delay

TVC(cbch) (23,6

[ns]

-1 nuiL394e+04 / 25
4218+ 0.0
pl -35.84 + 0.00

- 5o
L C =27.90 [ps/ch .
5(‘) 10‘0 =
TP delay [ns]

TVC(cbch) (2, 3 10

1000

0

- b

© a2 yoze+ud | 25
4269+ 0.0
pl -36.13+ 0.00

TP delay

TVC(cbch) (2,314

[ns]

T i b43e+04 / 25
4227+ 0.0
pl -34.66 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

- po

AT 1L suse+ud [ 25
4207+ 0.0
-35.81+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 3,7

RRALCIEY

- pO
p1

4z2e+04 1 25
4197+ 0.0
-35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

Mo pO

T, 14::e+u4/25
4258+ 0.0
-35.81+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2, 3 15

T nuiagse+ud [ 25
4228+ 0.0
-35.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

A7 1 nui p4ye+ud [ 25
4204+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (24,4

- 1 ba4e+04 / 25
[ po 4209+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (2,4,8

©1nuz.403e+04 / 25
r PD 4245+ 0.0
pl -38.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,4,12

T rnuiLbroe+u4 / 25
[, po 4244+ 0.0
pl -34.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1)

R S5 re+U4 [ 25
[ po 4190+ 0.0
pl -34.44 £ 0.00

TP delay [ns]

TVC(c,b ch) (2 4,5

= rnuiL 5 3e+ud [ 25
[, po 4218+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 4

T nup.bble+ud [ 25
4259+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,4,13

~ 1 nuiL bboe+ud / 25
= pO 4229+ 0.0
p1 -35+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
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4213+ 0.0
pl -35.65+ 0.00

50 1(;0
TP delay

TVC(cbch) (2, 11 11

4000

3000

2000

1000

[ns]

<1 nuiL ryge+u4 / 25
4228+ 0.0
-35+ 0.0

TP delay

TVC(cbch) (211,15

4000 [Fu.

3000

2000

1000

[ns]

T inuia43e+04 / 25
4235+ 0.0
p1 -35.62+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

~rnuiLgn4e+u4 [ 25
- pO 4195+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (2,124

- i 319e+u4 / 25
- pO 4219+ 0.0
pl -36.12:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

1 nuiz.4u4e+04 | 25
- po 4202+ 0.0
pl -34.66 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (212,12

~ 1 nuiL4o8e+04 / 25
- po 4245+ 0.0
pl -35.98 + 0.00

P RS R B
50 100

TP delay [ns]

TVC(chh) (2,12,1)

4000 00

K™ 1 nuiLgive+ud [ 25
4206+ 0.0
pl -38.01+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (2,125

4000 [, pO

pl

[ns]

-1 nui 3loe+u4 / 25
4230+ 0.0
-36.51+ 0.00

3000 -

2000

w00 C = 27.39 [ps/ch

TP delay

TVC(c,b ch) (2, 12

4000 [Fem

[ns]

S Hm44143+u4/25
4228+ 0.0
pl -35.55 + 0.00

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (212,13

4000 [

[ns]

T inai14ze+04 /25
4227+ 0.0
pl -34.68 + 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (2,12,2)

AT 1nui41se+04 /25
[ po 4217+ 0.0
L pl -37.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (2.12,6

-1 nuig 354e+04 / 25
- pO 4236+ 0.0
[ pl -36.47 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

~1nuiLyave+u4 | 25
[= DO 4234+ 0.0
- pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (2,12, 14

1000

TS e+u4 [ 25
__- pD 4242+ 0.0
L pl -35.66 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

[=

po

AT 1L syse+ud [ 25
4216+ 0.0
pl -36.42+ 0.00

TP delay

TVC(c, bch) (2,12,7

= po

[ns]

-1 nui 489e+04 / 25
4266+ 0.0
pl -37.44 % 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

- pO

[ns]

T nai r39e+u4 / 25
4237+ 0.0
p1 -34.98 £ 0.00

TP delay

TVC(cbch) (212,15

[ns]

T nui syae+ud [ 25
4232+ 0.0
p1 -34.96 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

TrnwiLgle+u4 /25
[ pO 4203+ 0.0
pl -36.62+ 0.00

TP delay [ns]

TVC(cbch) (2,134

-1 bz4e+04 [ 25
pO 4239+ 0.0
pl -39.87+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T nuiL4y1e+u4 / 25
- po 4203+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (2,13, 12

T rnuiLb43e+04 / 25
- po 4229+ 0.0
pl -36.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

AT 1 nuiLzyoe+ud [ 25
[P po 4221 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c, bch) (2,135

-1 i bu3e+u4 / 25
- pO 4242+ 0.0
pL -39.34+ 0.00

TP delay [ns]

TVCEbeN)=(2, 13,9

Tinugisle+ud /25
- po 4228+ 0.0
p1 -34.66 + 0.00

TP delay [ns]

TVC(cbch) (213,13

TinaiLgr3e+ud [ 25
- pO 4224+ 0.0
pl -35.87+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000
3000
2000

1000

TVC(CbCh) (2,13,2)

A7 nun ssoe+u4 / 25
po 4211+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

TVC(cbch) (2,136

=i bBbe+u4 / 25
pO 4252+ 0.0
pl -39.46 + 0.00

TP delay [ns]

TVC(cbch) (2,13,10

1 nuiLgEYe+u4 / 25
po 4238+ 0.0
pl -35.23+ 0.00

1
100

TP delay [ns]

TVC(cbch) (2,13, 14

T rnuiLgrve+u4 [ 25
pD 4227+ 0.0
pl -35.78+ 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

AT 1 nuiL4yoe+ud [ 25
™=, po 4225+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

- 1L Bave+u4 25
r pO 42551 0.0
pl -38.97 + 0.00

TP delay [ns]

TVC(eheh)=(2, 13, 11

<1 nuiL oboe+ud / 25
. po 4239+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (213,15

-1 nuiayye+ud [ 25
po 4228+ 0.0
p1 -35.49 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

©rnuiLuuse+u4 / 25
- pO 4172+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(cbch) (2,144

- L z31e+04 ] 25
" pO 4181+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

T, rgpe+u4 / 25
- po 4227+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (214,12

T L pLoe+u4 / 25
- po 4212+ 0.0
pl -35.56 + 0.00

P RS R B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

AT rnuiLisse+ud [ 25
- po 4176+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c, bch) (2,145

-1 nui 31Ye+u4 / 25
- pO 4210 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

Tinugpr1e+ud /25
4250+ 0.0
-37.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (214,13

T nuib4ye+ud [/ 25
- pO 4213+ 0.0
pl -36.94 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(CbCh) (2,14,2)

K™ 1 nui 1oye+u4 / 25
[, po 4176+ 0.0
- pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (2.14,6

T 37ze+04 [ 25
4215+ 0.0
-36.41+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10

1000

0

©1nuz. zode+u4 | 25
- po 4259+ 0.0
F pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (214,14

1L 5Epe+U4 / 25
4210+ 0.0
-36.1+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

AT rmuiLupre+ud [ 25
- po 4180+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

-1 nui 491e+04 / 25
-, pO 4212+ 0.0
pL -35.96+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 14 11

-1 nui yose+ud / 25
e pO 4262+ 0.0
p1 -37.42+ 0.00

TP delay [ns]

TVC(cbch) (2,14,15

Tonan g a4e+u4 [ 25
- pO 4212+ 0.0
p1 -35.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

T 14/e+04/25
- pO 4173+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (2,154

-1 34ze+04 [ 25
- pO 4189+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

T z1se+u4 /25
- po 4210+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T i 5zoe+u4 [ 25
- po 4217+ 0.0
pl -35.16 + 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,15,1)

AT 1 nunLssve+ud [ 25
- po 4185+ 0.0
pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (2,155

- nui 3z1e+04 / 25
- pO 4186+ 0.0
pL -34.56+ 0.00

50 1(;0
TP delay [ns]

TVCebeh)=(2 15,9

~ 1 nuw s28e+u4 [ 25
- po 4237+ 0.0
pl -35.95+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (215,13

Tinai s4e+u4 /25
- pO 4207+ 0.0
pl -34.76 + 0.00

PR IS S S
50 100

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (2,15,2)

1000

1
50 100

TP delay [ns]

TVC(cbch) (2,156

A7 1 nui sove+u4 / 25
[ po 4189+ 0.0
L pl -35.47 + 0.00

3000

T 373e+04 [ 25
[=. po 4199+ 0.0
[ pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

1z, [ube+u4 | 25
[= DO 4265+ 0.0
o pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (2.15,14

T 34ze+04 [ 25
[, pD 4223+ 0.0
L p1 -35.28+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

AT 1L syze+ud [ 25
- po 4196 + 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c, bch) (2,157

- nu1.4ze+04 25
- pO 4211+ 0.0
pl -35.95+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.ch)=(2, 15, 11

T nuiL g oe+u4 [ 25
. po 4237+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

T nai sz3e+ud [ 25
po 4210+ 0.0
p1 -33.15+ 0.00

TP delay [ns]



TVC(cbch) (3,0,0)

4000

3000

2000

1000

X~ 1 i booe+U4 [ 25
Y 4202+ 0.0
pl -37.97 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

4000

3000

2000

1000

- i bole+ud / 25
pO 4214+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (3 0,8

4000

3000

2000

1000

0

Tz ze+04 /25
- PD 4167+ 0.0
pl -33.89+ 0.00

0

TP delay [ns]

TVC(cbch) (3,0,12

4000

3000

2000

1000

T 1nuiL sbae+ud [ 25
- PO 4239+ 0.0
pl -35.55+ 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1

A1 Ui 4yze+ud [ 25
-— LY 4173+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

S nun Z.use+ud [ 25
= DU 4206+ 0.0
pL -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

~ 1 nui gbbe+ud 25
- DO 4210+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(cbch) (3,0,13

T buse+u4 [ 25
-, pO 4222+ 0.0
pl -35.62 + 0.00

TP delay [ns]

4000
3000

2000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,0,2)

1000

X~ 1L bspe+U4 [ 25
po 4192+ 0.0
pl -37.04 + 0.00

TP delay [ns]

TVC(cbch) (3,0,6

- i Bo3e+ud / 25
L= pO 4229+ 0.0
3 pl -37.93:+ 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

T 3z(e+04 [ 25
L= DO 4200+ 0.0
r pl -33.97 + 0.00

TP delay [ns]

TVC(cbch) (3,0,14

T p3ie+ud / 25
[= PD 4232+ 0.0
F pl -36.04 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

R Ui 5ase+U4 [ 25
= Y 4200+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

-1 nui Buge+u4 / 25
= PO 4236+ 0.0
pL -37.86 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

T o, 159e+u4/25
- pO 4208+ 0.0
pl -34.68 + 0.00

TP delay [ns]

TVC(C, bch) (3,0,15

-1 nui boe+ud / 25
4216+ 0.0
-34.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,1,0)

A7 1 nuiLosoe+ud /25
i po 4178+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (31,4

- i gbye+ud / 25
pO 4199 0.0
pl -35.95+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 1,8

T L 47e+04 [ 25
- po 4189+ 0.0
pl -35.29+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (31,12

~rnuiLg44e+04 / 25
4212+ 0.0
-34.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

A L4l ie+Ud ] 25
- po 4186 + 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

= 1nuiL foze+ud | 25
- po 4187+ 0.0
pl -35.34 % 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 1,9

T nu.p1Ye+ud / 25
- po 4195+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

T nuiLvoae+ud [ 25
4220+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,1,2)

K™ 1 nuiozae+04 /25
[ po 4178+ 0.0
[ p1 -36.12+ 0.00

TP delay [ns]

TVC(cbch) (3,1,6

-1 i bybe+u4 / 25
4205+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(cbch) (3, 1 10

T z.49e+04 /25
[= po 4194+ 0.0
L pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (31,14

~ 1 nuiLbo5e+U4 / 25
= pD 4207+ 0.0
L p1 -35.59+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

AT 1L osle+ud [ 25
- po 4200+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

= rnuzQure+ud | 25
- po 4217+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (3, l

- SRR bwe+u4/25
. pO 4211+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (31,15

T nui byze+ud [ 25
- pO 4217+ 0.0
p1 -35.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,2,0

AT inuioi/e+ud /25
- po 4167+ 0.0
pl -35.58+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- L a38e+04 | 25
", pO 4176+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (3 2,8

T 1goe+ud /25
- po 4219+ 0.0
pl -35.58 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,212

© i 5a5e+04 / 25
- po 4224+ 0.0
pl -35.39+ 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1

A 1 uiLdyserud | 25
- po 4189+ 0.0
pL -36.65 & 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

- nui b31e+u4 / 25
- pO 4201% 0.0
pL -36.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 2,9

T na, r11e+u4 /25
= pO 4233+ 0.0
pl -36.32 + 0.00

TP delay [ns]

TVC(cbch) (3,213

Tinun L obe+ud /25
- pO 4225+ 0.0
p1 -35.7+ 0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,2,2)

X~ 1w 4u4e+04 [ 25
[ ", po 4194+ 0.0
L pl -37.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

“ i, roze+04 [ 25
4200+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(cbch) (3, 2 10

1 nuzgz8e+04 | 25
- po 4274+ 0.0
L pl -38.12+ 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,214

~1nuiL4yse+ud | 25
[, pD 4218+ 0.0
L p1 -35.27+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

AT rnuaiLozre+ud [ 25
- po 4194+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

-1 nui 4bze+04 / 25
4205+ 0.0
-35.7 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 2

T awe+u4/25
e pO 4266+ 0.0
pl -37.18 + 0.00

TP delay [ns]

TVC(C, bch) (3,215

T nuia30e+u4 / 25
pO 4233+ 0.0
p1 -35.24 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0

A7 1 nui sove+u4 / 25
., po 4187+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (33,4

=i zose+ud [ 25
pO 4208+ 0.0
p1 -34.17:+ 0.00

TP delay [ns]

TVC(cbch) (3 3,8

© L plge+u4 / 25
po 4210+ 0.0
pl -35.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,312

1L poye+u4 / 25
pO 4230+ 0.0
p1 -35.8+ 0.0

P RS R B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,1

A L dzserud | 25
- po 4196+ 0.0
pL -36.47+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nui 4o8e+04 / 25
pO 4221+ 0.0
pL -35.28+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

-1 nuw Ubbe+ud / 25
- po 4219+ 0.0
p1 -34.66 + 0.00

TP delay [ns]

TVC(cbch) (3,3,13

T nai ruge+ud 25
pO 4232+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,3,2)

A7 nun suoe+u4 / 25
= po 4212+ 0.0
L pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

-1 nuiL495e+04 [ 25
- pO 4230+ 0.0
[ pl -35.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T nuz133e+04 / 25
= po 4248+ 0.0
- pl -35.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

~ 1 nuiLp4ge+u4 [ 25
[, pD 4214+ 0.0
[ p1 -35.86 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT 1 nuiLzsse+ud [ 25
[, po 4211+ 0.0
pl 345+ 0.0

TP delay [ns]

TVC(c,b ch) (3 3,7

-1 nui 430e+04 / 25
pO 4247+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

T 4b9e+u4/25
- pO 4249+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(C, bch) (33,15

T inuiog/e+ud [ 25
pO 4236+ 0.0
p1 -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,4,0)

AT inuiLor1e+u4 /25
., po 4192+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (34,4

[P

- 1L dp1e+u4 / 25
pO 4226+ 0.0
pl -36.02:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

T nuiguzoe+u4 | 25
PD 4208+ 0.0
p1 -34.28 + 0.00

0

TP delay [ns]

TVC(cbch) (3,4,12

T, z1e+04 /25
pO 4234+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1)

AT 1 nuiL3y4e+u4 [ 25
., po 4189+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,5

[P

- nun bz1e+u4 / 25
pO 4231+ 0.0
pL -36.69+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

T nun.3u/e+u4 /25
po 4228+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

TVC(cbch) (3,4,13

T inaiule+ud / 25
pO 4221% 0.0
pl -37.24 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,4,2)

K™ 1nui r40e+04 /25
po 4185+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (34,6

[

© i b13e+u4 / 25
pO 4239+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (3, 4 10

T rnubl4e+u4 [ 25
po 4238+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (3,4,14

T, rzoe+u4 | 25
pD 4220+ 0.0
pl -36.84 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3)

AT rnuiLoie+ud [ 25
po 4204+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

[

-1 nui blze+u4d / 25
pO 4246+ 0.0
p1 -35.94 + 0.00

TVC(c,b ch) (3, 4

TP delay [ns]

T ‘Jb/e+U4/25
po 4243+ 0.0
p1 -34.91+ 0.00

TP delay [ns]

TVC(C, bch) (34,15

-1 nui byse+ud [ 25
po 4224+ 0.0
p1 -36.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,5,0)

A7 nun zuoe+ud [ 25
4200+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,54

T 3r5e+04 / 25
pO 4213+ 0.0
pl -35.32:+ 0.00

5(‘) 10‘0
TP delay [ns]
TVC(cbch) (3 5,8

1 nuig.Uobe+u4 / 25
PD 4238+ 0.0
p1 -34.94 + 0.00

0

TP delay [ns]

TVC(cbch) (3,5,12

T L pole+ud / 25
pO 4292+ 0.0
pl -36.32+ 0.00

P RS R B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

AT 1L ssze+ud [ 25
po 4226+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nui435e+04 / 25
pO 4202+ 0.0
pL -34.66+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

=,

-1 nai zgoe+ud | 25
po 4268+ 0.0
pl -35.32 + 0.00

TP delay [ns]

TVC(cbch) (3,5,13

[,

~ 1 nuiLouve+ud / 25
pO 4280+ 0.0
pl -36.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

0

4000

3000

2000

TVC(cbch) (3,5,2)

K71 z4ze+04 /25
[, po 4230+ 0.0
o pl -35.87+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

S 38/e+04 [ 25
- pO 4206+ 0.0
[ pl -34.34+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

T 1nuiz4p1e+04 /25
po 4282+ 0.0
p1 -34.9 0.0

TP delay [ns]

TVC(cbch) (3,5,14

1000

[

T plie+ud / 25
pD 4280+ 0.0
pl -36.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1 nuiLzyoe+ud [ 25
™, po 4238+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

- nui 3/1e+04 / 25
e, pO 4218+ 0.0
p1 -34.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 5

T ywe+u4/25
po 4287+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(C, bch) (3,5,15

T inuibise+ud [ 25
[ pO 4293+ 0.0
p1 -36.86+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

A7 1 nui soae+04 /25
- po 4174+ 0.0
p1 -34.13+ 0.00

TP delay [ns]

TVC(cbch) (36,4

-1 nui 359e+04 / 25
- pO 4238+ 0.0
pl -36.68:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

T rnuz4r3e+04 /25
- po 4227+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T rnuiLgnse+ud [ 25
- po 4219+ 0.0
pl -35.09 + 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,1

AT 1 nunLsuve+ud [ 25
[ po 4185+ 0.0
p1 346+ 0.0

TP delay [ns]

TVC(c,b ch) (3 6,5

~nu Zge+u4 [ 25
- pO 4254+ 0.0
pL -37.49+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nugp/ze+ud [ 25
- pO 4254+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (3,6,13

T nai zoze+ud [ 25
pO 4231% 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,6,2)

1000

1
50 100

TP delay [ns]

TVC(cbch) (36,6

=1L 308e+04 / 25
™. po 4256+ 0.0
[ pl -36.86 + 0.00

A7 1nuizioe+u4 /25
__- po 4202+ 0.0
o pl -35.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

1 nuiLbb4e+U4 [ 25
N po 4248+ 0.0
o pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

1L zype+u4 / 25
X pD 4244+ 0.0
[ p1 -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1L sose+ud [ 25
- po 4190+ 0.0
pl -34.57 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 4/ae+04 | 25
Fu, pO 4260+ 0.0
pL -37.86+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T bbbe+U4/25
. po 4262+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

Tonan L zge+ud | 25
po 4237+ 0.0
p1 -35.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

X~ 1 sose+U4 [ 25
- Y 4194+ 0.0
pl -35.14 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (37,4

T i 134e+04 /25
pO 4203+ 0.0
pl -35.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T L, r34e+04 / 25
PD 4211+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

~nuiLo40e+u4 / 25
pO 4223+ 0.0
pl -34.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT 1 nuiL2Zooe+ud [ 25
[, po 4199+ 0.0
pL -35 0.0

TP delay [ns]

TVC(c,b ch) (3,7,5

'rHulizbE+U4/25
= Y 4192+ 0.0
pL -34.74.+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 nu.4pYe+ud / 25
DO 4238+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (3,7,13

T 1w 444e+04 [ 25
- pO 4206+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

TP delay [ns]

TVC(cbch) (3,7,6

X~ 1 i osse+U4 [ 25
™ po 4214+ 0.0
3 pl -36.04+ 0.00

3000

- 1zze+04 [ 25
L= pO 4211+ 0.0
I pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

1 nuiz198e+04 / 25
L= DO 4253+ 0.0
r pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (37,14

T sbre+ud [ 25
PD 4208+ 0.0
pl -34.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

K- 1L doae+Ud | 25
[ po 4214+ 0.0
pl  -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nur 3b3e+u4 / 25
= PO 4224+ 0.0
pL -35.61+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (37,11

~ 1 nuiy4ae+u4 / 25
- pO 4252+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

T zsbe+u4 [ 25
- pO 4214+ 0.0
pl -35.38 + 0.00

TP delay [ns]



TVC(cbch)(380) TVC(cbch)(381) TVC(cbch)(382) TVC(cbch)(383)
A” 1L 4p/e+04 / 25 A1 zyse+ud | 25 AT 1w 414e+04 [ 25 A~ 1w puse+ud / 25
4000, PO 4217+ 0.0 4000w, po 4196+ 0.0 4000, PO 4198+ 0.0 4000w, PO 4228+ 0.0
pl -37.3+ 0.0 pl -35.46 + 0.00 : pl -35.91+ 0.00 pl -37.08+ 0.00

-1 3000

3000 - -1 3000 -1 3000

2000~ 1 2000 -1 2000 = 2000

=1 1000 -1 1000

wol- C = 26.81 [ps/c 1

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,84 TVC(cbch) (3,85 TVC(cbch) (3,86 TVC(c, bch) (3,87

=i zose+ud [ 25 T z1se+ud [ 25 “ a1 ge+u4 [ 25 ~nui4n/e+04 / 25
4000, pO 4220+ 0.0 4000w, DU 4208+ 0.0 4000, pO 4215+ 0.0 4000, pO 4236+ 0.0
pl -35.20 + 0.00 pL -35.12:+ 0.00 3 pl -35.18:+ 0.00 pL -36.07 + 0.00
3000 -1 3000 -1 3000~ 1 3000 - T
2000 - — 2000 B 2000~ - 2000 4
1000 C - 1000 - 1000 r C =2842 [pS/Ch ] 1000 C -
- [ - ] -
- [ " -
- - -
0, 1 1 0, 1 1 0, 1 1 0, L 1 -
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3 8,8 TVC(cbch) (3 8,9 TVC(cbch) (3, 8 10 TVC(cbch) (3, 8

T, (oze+04 | 25 ~ 1 nup.38be+u4 | 25 © 1 nuzgo3e+ud | 25 T, /54e+u4/25
4000 4247+ 0.0 4000 [, DO 4263+ 0.0 4000 __- DO 4269+ 0.0 4000 e, pO 4273+ 0.0
-38.2+ 0.0 pl -37.55+ 0.00 r pl -37.92+ 0.00 pl -38.03+ 0.00

- 3000

3000 . 3000 - 3000 .

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

I I [
% 50 00 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,812 TVC(cbch) (3,8,13 TVC(cbch) (3,814 TVC(C, bch) (3,8,15

~ i suze+u4 / 25 TinuiLarie+ud /25 T s45e+04 / 25 -1 nuiquae+ud 25
4000 pO 4236+ 0.0 4000 [, pO 4232+ 00 4000, pD 4230+ 0.0 4000 T po 4240% 0.0
pl -36.12+ 0.00 pl -36.03+ 0.00 r pl -36.31+ 0.00 pl -35.66 + 0.00

3000

-1 3000 - 3000 N 3000 T

2000 . 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0

A7 nui soie+u4 /25
™, po 4213+ 0.0
pl -35.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (39,4

- 1 i 549e+04 / 25
e pO 4206+ 0.0
p1 -34.88:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

Tz zsve+u4 | 25
- po 4213+ 0.0
p1 -34.82 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

T rure+u4 /25
pO 4268+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

AT rnuL3rve+ud [ 25
[ po 4229+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

-1 nui bule+ud / 25
e pO 4214+ 0.0
pL -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 9,9

T nup.zg3e+ud / 25
- po 4225+ 0.0
pl -35.38 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,13

T inuiLpo/e+ud [ 25
- pO 4246+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

AT 1nuizyre+ud /25
™= po 4229+ 0.0
- pl -35.7+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (39,6

=i, ryse+u4 [ 25
- pO 4229+ 0.0
[ pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

a2 puye+ud / 25
- po 4247+ 0.0
- pl -34.8+ 0.0

3000

TP delay [ns]

TVC(cbch) (3,9,14

T, o3e+u4 / 25
- pD 4253+ 0.0
L pl -37.72+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3)

- sase+ud |25
7™, pO 4227+ 0.0
pL -34.86+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

-1 nui b34e+u4 / 25
- pO 4239+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

T, 1/1e+u4/25
- po 4253+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

T inuiplye+ud / 25
- po 4245+ 0.0
p1 -36.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T rnuiL4y1e+u4 /25
[ pO 4217+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (3,10,4

- 1 1uiL445e+04 / 25
- pO 4203+ 0.0
pl -36.65+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

©1nuiLyage+04 / 25
- pO 4248+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (310,12

T L 5o3e+U4 / 25
[ po 4232+ 0.0
pl -34.85+ 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

I C =26.46 [ps/c ]

AT 1L soye+ud [ 25
[ po 4219+ 0.0
p1 -37.8+ 0.0

1 1
50 100

TP delay [ns]

TVC(c, bch) (3,10,5

-1 nui byze+u4 / 25
- pO 4210 0.0
pL -36.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 10

T inugyrze+ud [ 25
- pO 4261+ 0.0
-36.5 % 0.0

1
50 100

TP delay [ns]

TVC(cbch) (310,13

Tinui syle+ud / 25
- pO 4231+ 0.0
pl -34.19+ 0.00

TP delay [ns]

4000

2000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (3,10,2)

1000

TP delay [ns]

TVC(cbch) (3,10,6

A7 1 nuiosoe+u4 /25
__- po 4217+ 0.0
o pl -37.29.+ 0.00

3000

T 14/e+04 /25
[ po 4222+ 0.0
[ p1 -36.49+ 0.00

TP delay [ns]

TVC(cbch) (3, 10 10

1000

0

1 nuzgoge+u4 | 25
- po 4274+ 0.0
- pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (3.10,14

1000

~ i ba5e+04 / 25
__- pD 4234+ 0.0
L pl -35.05+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10,3)

AT 1L sooe+ud [ 25
[, po 4217+ 0.0
pl -35.89+ 0.00

TP delay [ns]

TVC(c, bch) (3,10,7

-1 nui 439e+04 / 25
-, pO 4230+ 0.0
pL -37.83+ 0.00

50 100
TP delay [ns]

TVC(cbch) (3, 10 1

T nui rbae+u4 [ 25
- po 4272+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (3,10,15

T nui psae+ud [ 25
e pO 4222+ 0.0
p1 -35.45+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3,11,0)

A7 nun zsye+ud [ 25
4184+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (3,114

-1 zuve+ud / 25
4167+ 0.0
-35.17 + 0.00

- pO
pl
e 4
5(‘) 10‘0
TP delay [ns]
TVC(c,b, ch) (3, 11 8
- po

T 3ze+04 [ 25
4235+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (3,11, 12

X1 g31e+04 /25
po 4216+ 0.0
pl -35.31+ 0.00

PR ISR SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,11,1)

. po

AT 1L zese+ud [ 25
4189+ 0.0
pl -35.58 + 0.00

TP delay

TVC(cbch) (3,115

[ns]

1o s12e+04 / 25
4173+ 0.0
pl -33.23+ 0.00

TP delay

TVC(eh.eh)=(3, 11, 9

- po

[ns]

T nuiLyL3e+us / 25
4251% 0.0
p1 -36.29 + 0.00

TP delay

TVC(cbch) (311,13

pO

[ns]

T inai zyze+ud [ 25
4200+ 0.0
pl -34.98 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000

2000

4000

3000
2000

1000

TVC(CbCh) (3,11, 2)

- po

A~ 1 nuiL4s0e+04 /25
4187+ 0.0
pl -36.23+ 0.00

TP delay

TVC(cbch) (3,11,6

pD

[ns]

-1 nur398e+u4 / 25
4197+ 0.0
pl -34.92 + 0.00

TP delay

TVC(cbch) (3,11, 10

1000

0

[ns]

X~ 1wz baze+04 [ 25
po 4241+ 0.0
p1 -34.47 + 0.00

TP delay

TVC(cbch) (3,11, 14

[ns]

X~ 1L 330e+04 [ 25
N po 4194+ 0.0
L p1 -34.49 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,11,3)

- po

AT 1L sove+ud [ 25
4192+ 0.0
pl -35.81+ 0.00

TP delay

TVC(cbch) (311,7

-, pO

[ns]

=1 nui bube+u4 / 25
4182+ 0.0
pl -34.38 + 0.00

TP delay

TVC(Ebeh=(3, 11, 11

pO

[ns]

T nuiLysie+ud / 25
4264+ 0.0
pl -36.64 + 0.00

TP delay

TVC(cbch) (311,15

[ns]

Tonaiziie+ud | 25
4205+ 0.0
-35.01+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,0,0)

AT 1nuiisie+u4 /25
po 4203+ 0.0
pl -36.28 + 0.00

1
100

TP delay [ns]

TVC(cbch) (4,0,4

T 1 z9e+04 / 25
pO 4220 0.0
p1 -35.74+ 0.00

5(‘) 10‘0
TP delay [ns]
TVC(cbch) (4 0,8

1 nuiL4o4e+04 / 25
po 4228+ 0.0
-36.6+ 0.0

1
100

TP delay [ns]

TVC(cbch) (4,0,12

-1 nuiz 1ive+ud | 25
4231+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,01

AT 1L sose+ud [ 25
p— po 4205+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,5

- nu 3z8e+u4 [ 25
pO 4234+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,9

[P

Tinug. 7/ /e+u4 /25
po 4257+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (4,0,13

~ 1 nuiz gyse+ud | 25
4230+ 0.0
-35.71+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (4,0,2)

A7 1nuizzoe+04 /25
[, po 4215+ 0.0
L pl -35.75+ 0.00

3000

1
50 100

TP delay [ns]
TVC(cbch) (4 0,6)
TnuiL31/e+04 /25
™. pO 42441 0.0
L pl -36.15::‘
[ C =27.66 [ps/ch ]
1 L -
50 100

TP delay [ns]

TVC(cbch) (4, 0 10

[

T nu,114e+04 / 25
DO 4255+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (4,0,14

T rnuizysie+ud /25
pD 4225+ 0.0
pl -35.63+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,3)

[,

AT 1 nuiLzzye+ud [ 25
po 4222+ 0.0
pl -35.61+ 0.00

TVC(c,b ch) (4 0,7

1
100

TP delay [ns]

[

Crnan 1426404 1 25
pO 4243+ 0.0
pL -36.33+ 0.00

TVC(c,b ch) (4, O

1(;0
TP delay [ns]

[m

SRR bUbe+U4/25
po 4267+ 0.0
-36.3 + 0.0

1
100

TP delay [ns]

TVC(C, bch) (4,0,15

Tinan3.01e+u4 [ 25
po 4234+ 0.0
p1 -35.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,1,0)

X~ 1 1yoe+U4 [ 25
4205+ 0.0
p1 -36.36 + 0.00

1
50 100

TP delay

TVC(cbch) (4.1,4

pO
pL

[ns]

T i 133e+04 / 25
4194+ 0.0
-34.49 + 0.00

=0 00
TP delay [ns]
TVC(cbch) (4,1,8)
© il 53ye+u4 / 25
e, po 4232+ 0.0
p1 -35.84 + 0.00

1
50 00

TP delay

TVC(cbch) (41,12

[ns]

- i 1p/e+04 [ 25
4211+ 0.0
-33.91+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1)

i PO

A1 Save+Ud | 25
4199+ 0.0
-35.22:+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (4 1,5

=1 nui QuYe+u4 / 25
4202+ 0.0
-33.79+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (41,9

[Fe pO

pl

T nu.zb/e+ud [ 25
4243+ 0.0
-36.23 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, l 13

T inaizole+ud [ 25
4227+ 0.0
-34.55+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

1000

1000

0

TVC(cbch) (4,1,2)

po

pl

X~ 1L 3use+u4 [ 25
4224+ 0.0
-36.43+ 0.00

TP delay

TVC(cbch) (41,6

pD

[ns]

©1nuiLUebe+u4 / 25
4203+ 0.0
pl -32.51+ 0.00

TP delay

TVC(ebeh)=(4, 1, 10

pO
pl

[ns]

-1 U p33e+u4 [ 25
4253+ 0.0
-35+ 0.0

TP delay

TVC(cbch) (41,14

[ns]

L, 14)
1L go1e+ud [ 25
[=. pD 4208+ 0.0
L pl -33.87 + 0.00
FC =29.52 [psich™, 1
1 1
50 100
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,3)

[, po

p1

A1 3a1e+U4 ] 25
4220+ 0.0
-35.41% 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4 1,7

pO
pl

- nun 13ze+04 / 25
4205+ 0.0
-32.81+ 0.00

[ C=30.48[ps/ch] ™. 1
5& 160
TP delay [ns]

TVC(c,b ch) (4, l

[ pO

1)
- nui ozse+ud / 25
4250+ 0.0
-35.84+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (4, 1 15

T nuizsve+ud [ 25
4212+ 0.0
-34.39+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,2,0

X~ 1w zove+U4 [ 25
T, PO 4178+ 0.0
pl -36.18+ 0.00

TP delay [ns]

TVC(cbch) (4,24

- i bl1ze+ud / 25
= pO 4201+ 0.0
pl -36.37 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (42,8

T nuiguzoe+u4 | 25
- PD 4197+ 0.0
pl -35.48 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,212

T i pgze+u4 [ 25
- PO 4220+ 0.0
pl -36.86 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,1

AT rnunLszse+ud [ 25
" po 4178+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,5

S nun1p1e+ud /25
= DU 4195+ 0.0
pL -35.69+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,9

- nai 3use+ud 25
- DO 4230+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (4,213

T 1w buse+u4 / 25
- pO 4206+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (4,2,2)

X~ 1w syve+u4 [ 25
L™ po 4187+ 0.0
[ pl -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,2,6

-1 i bBbe+u4 / 25
4207+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(ebeh)=(4,2, 10

1000

0

©1nuzbgve+ud | 25
L= DO 4241+ 0.0
r pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,214

T az0e+04 [ 25
= PD 4212+ 0.0
[ pl -35.95 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,3

A7 1 nuiL480e+U4 / 25
- po 4204+ 0.0
p1 -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (4 2,7

- nun bz3e+u4 / 25
= PO 4216+ 0.0
pL -35.96 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 2

SRR yu/e+u4/25
- pO 4245+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(C, bch) (4,215

T 373e+04 /25
pO 4206+ 0.0
pl -35.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,3,0

A7 1nus, rzoe+04 /25
- po 4171 0.0
p1 -35+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (43,4

- i 349e+04 / 25
", pO 4184+ 0.0
pl -36.16 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 3,8

©1nuizyage+04 | 25
- po 4217+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (4,312

T L, r9pe+u4 / 25
4229+ 0.0
-36.91+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31

A7 1 nuis.bbbe+ud / 25
- po 4169+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,5

~1nuiL4/9e+04 [ 25
- pO 4188+ 0.0
pL -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

Tinai74/e+04 /25
- po 4225+ 0.0
p1 -36.61+ 0.00

TP delay [ns]

TVC(cbch) (4,3,13

T nui szoe+ud / 25
4216+ 0.0
-36.81+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (4,3,2)

A7 1 nuis rsoe+u4 / 25
™ po 4191+ 0.0
L p1 -36.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,3,6

1000

- i bb3e+ud / 25
= po 4221 0.0
[ pl -37.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 3 10

1000

0

T8z (e+04 | 25
[ po 4236+ 0.0
[ p1 -37.04+ 0,00

3000

TP delay [ns]

TVC(cbch) (4,3 14

~ 1L bs4e+U4 [ 25
[=. pD 4224+ 0.0
[ p1 -37.24+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,3)

T g.sve+ud [ 25
pO 4189+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

- 11 bave+u4 / 25
-, pO 4212+ 0.0
pL -35.91% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 3

AN uz4e+u4/25
- pO 4246+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(C, bch) (43,15

T nai s4ze+u4 [ 25
= pO 4233+ 0.0
p1 -37.17+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,0)

T r1e+ud /25
- pO 4171+ 0.0
p1 356+ 0.0

TP delay [ns]

TVC(cbch) (4.4,4

- i rzoe+u4 | 25
- pO 4200 0.0
pl -36.89+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,ch)=(4, 4,8

1 nuiz,0yoe+u4 / 25
[ po 4235+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(cbch) (44,12

T3 /e+u4 [ 25
4213+ 0.0
-34.8+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,1)

X i Saverud | 25
- po 4170+ 0.0
pL -36.05 & 0.00

TP delay [ns]

TVC(c,b ch) (4 4,5

- nui gz/e+u4 [ 25
[ pO 4214+ 0.0
pL -37.79+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,9

T nun. b /4e+04 [ 25
e, pO 4248+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(c,b ch) (44,13

Tonan g age+ud [ 25
= pO 4226+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,4,2)

AT 1nui4r9e+04 /25
| ™ po 4197+ 0.0
o pl -35.63+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (44,6

-1 nurL9u4e+u4 / 25
4214+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(cbch) (44,10

©1nuiz.41ve+04 | 25
= po 4256+ 0.0
L pl -36.17 + 0.00

3000

0

TP delay [ns]

TVC(cbch) (4,4,14

T ssze+u4 [ 25
[=. pD 4219+ 0.0
L pl -34.45 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,3)

X1 L rserud | 25
[T po 4203+ 0.0
pL -36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (4 4,7

= rnuzO/ e+04 [ 25
- po 4211+ 0.0
pl -36.73+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 4

1)
- nui ysbe+ud [ 25
e pO 4263+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(C, bch) (44,15

Tinuisb/e+ud [ 25
- po 4218+ 0.0
p1 -35.12+ 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,5,0)

T Lsse+ud /25
4182+ 0.0
-36.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,54

S i 118e+u4 /25
4184+ 0.0
-36.7+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4 5,8

T rnugyr4e+u4 [ 25
- po 4237+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

T rnuiL4sse+u4 / 25
4227+ 0.0
-35.21+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,1)

A 1L 4s3e+ud [ 25
- po 4189+ 0.0
pl -37.85+ 0.00

TP delay [ns]

TVC(c,b ch) (4 55

=1 nui 1g4e+ud | 25
- po 4189+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(c,b ch) (4 59

~ 1 nu.140e+04 / 25
= pO 4262+ 0.0
pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (4,5,13

Tinaizroe+ud [ 25
= pO 4226+ 0.0
pl -34.63+ 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,5,2)

A7 1nui31ve+u4 /25
™ po 4202+ 0.0
L pl -36.85+ 0.00

TP delay [ns]

TVC(cbch) (4,56

T nun1.49e+04 /25
L™ PO 4200+ 0.0
- pl -36.11+ 0.00

TP delay [ns]

TVC(cbch) (4, 5 10

T nuiz413e+04 / 25
__- DO 4269+ 0.0
- pl -37.02+ 0.00

0

TP delay [ns]

TVC(cbch) (4,5,14

T 1nuiLg3ve+u4 [ 25
__- pD 4238+ 0.0
L pl -35.85+ 0.00

PR SR T
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3)

-, po

AT 1L ssye+ud [ 25
4207+ 0.0
pl -35.93+ 0.00

TP delay

TVC(c,b ch) (4 57

-, pO

[ns]

- nui4/8e+04 / 25
4205+ 0.0
pl -36.05+ 0.00

TP delay

TVC(c,b ch) (4, 5

[ns]

T, /we+u4/25
4264+ 0.0
-37+ 0.0

1
50 100

TP delay

TVC(C, bch) (4,5,15

-, po

[ns]

T nui ssse+ud / 25
4227+ 0.0
p1 -34.85+ 0.00

TP delay

[ns]
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1000

4000

3000

2000

1000

TVC(cbch) (4,6,0)
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TVC(c,b,ch)=(4, 11, 0) TVC(cbch) (4,11,1) TVC(cbch) (4,11,2) TVC(cbch) (4,11,3)

. xorma “yz93/25 A- 1 LU 4e+Ud | 25 wi T 559/25 Srna Cuaz2/25
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (4, 11 4) TVC(c,b Ch) (4, 11 5) TVC(c,b Ch) (4, 11 6) TVC(c,b Ch) (4, 11 7)
~ T 285e+04 25 ~ 7 2gae+ud /25 ~ 7L 4Z9e+04 1 25 ~ 7 Ui bye+ud /25
4000 [, pO 4225+ 0.0 4000 [, pO 4216+ 0.0 4000 [, pO 4236+ 0.0 4000 [, pO 4249+ 0.0
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2000~ E 2000 — 2000 — — 2000 E
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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T nu1yie+u4 / 25 T U bare+u4 [ 25 X~ 1L yipe+u4 / 25 Ty 1e+04 /25
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X~ 1 494e+04 [ 25 T 4zze+04 1 25 X~ 1 zave+U4 [ 25 T rnui gore+u4 [ 25
4000 PO 4237400 4000 pO 4235£ 00 4000, PO 4226+ 0.0 4000, pO 4224400
pl -36.55+ 0.00 pl -36.61+ 0.00 : pl -35.32+ 0.00 pl -35.24 + 0.00
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